
19

CM SM MM LM NS SP XM WS VM NV VP IS

PRESSURE/VACUUM SWITCH MEDIA CONNECTION DESIGNATIONS
OPTION#     BASE PER OPTION

Note: Consult factory for materials and stock

#1 1⁄4“ - 18 NPT Male • • • • • • • • • • • •

#2 1⁄8“ - 27 NPT Male • • • • • • • • • • • •

#3 3⁄4“ - 16 SAE J514 O-Ring Male (-8) • • • • • • • • • •

#4 7⁄16“ - 20 SAE J514 37° Flare Male (-4) • • • • •

#5 1⁄4“ - 18 NPT Female • • • • • • • • •

#6 7⁄16“ - 20 SAE J514 O-Ring Male (-4) • • • • • • • • • • •

#7 1⁄4“ - 18 NPT Female *OBSOLETE* SEE OPT. 5

#8 1⁄8“ - 27 NPT Female • • • • • • • • • •

#9 3⁄8“ - 18 NPT Male • • • • • •

#10 1⁄4“ - Female Stainless Steel *OBSOLETE* SEE OPT. 5

#11 9⁄16“ - 18 SAE J514 O-Ring Male (-6) • • • • • • • • • • •

#12 M10-1 METRIC • • •

#13 1⁄2“ - 20 SAE J514 O-Ring Male (-5) • • • • • • • • • •

#14 1⁄2“ NPT Male/1⁄8“ NPT Female • • • •

#15 7⁄16“ - 20 SAE J514 O-Ring Female (-4) • • • • •

#16 7⁄16“ - 20 SAE J514  37 DEG •

#17 1⁄4“ -19 BSPP  (G 1⁄4“) Male • • • • • • • • • • • •

#18 7⁄16“ - 20 SAE J514 O-Ring Male ADJ (-4) • • • • •

#19 1⁄8“ - 28 BSPT (R1⁄8”) Male • • • • • • • • •

#20 1-1⁄2“ Pipe Sanitary Connection • • • • • •

#21 1⁄4“ BSPP Extended (G1⁄4) • • • • • • • • •

#22 1⁄2“ - 14 NPT Brass Male (IS Only) • • • • •

#23 1⁄4“ - 18 NPT SS Female (IS Only) • • • • •

#24 3⁄8”- 24 UNF Male/10-32 UNF Female • • •

#25 1⁄4“ - 18 NPT Male Nylon *OBSOLETE* SEE OPT. 1

#26 9⁄16” - 18 SAE J514 37° Flare Female (-6) • • • • •

#27 1⁄2“ - 14 BSPT (R 1⁄2“) Male • • • •

#28 1⁄8“ - 28 BSPP (G 1⁄8“) Male • • •

#29 3⁄8“ - 24 SAE J514 O-Ring Male (-3) • • • • • • • •

#30 1⁄4“ - 19 BSPT (R 1⁄4) Male • • • •



CM SM MM LM NS SP XM WS VM NV VP IS

PRESSURE/VACUUM SWITCH MEDIA CONNECTION DESIGNATIONS
OPTION#     BASE PER OPTION

Note: Consult factory for materials and stock

#31 Flange •

#32 M12-1.5 METRIC • • • • • • • •

#33 Extended Flange •

#34 7⁄16“ - 20 MS33649 Female (-4) •

#35 1⁄2“ - 14 NPT Male • • • • • • •

#36
9⁄16“ -18 SAE J514 Extended Boss O-Ring •Male (- 6)

#37 3⁄8“ - 24 Inverted Flare • • •

#38 Special SR • • • • • • •

#39 1⁄4“ -18 NPT SAE J516 Hose Male (-4) • • • • •

#40 M 10x1 SAE J2244-3 O-Ring Male • • •

#41
7⁄16“ -20 Internal 45 • • • •Degree Flare -SAE J 513

#42 9⁄16“ -18 ADJ

#43 M10x1 SAE J2244-3 Extnd. • • •

#44 1⁄4“ -18 NPT Female Ext. • • • • •

#45 9⁄16“ -18 SAE O-Ring • • • • •

#46 1⁄8“ - NPT Male Clipped NEX • • •

#47 1⁄4“ -19 BSPP Female (G1⁄4) • • • • •

#48 9⁄16“ -18 SAE Male 1⁄8 NPT •

#49 M14x1.5 J2244/3 • • •

#50 .302-32 Female • • •

#51 M14x1.5 (19mm HEX) •

#52 3⁄8“ - UNF w/1⁄4“ BARB • • •

#53 3⁄8“ - M12x1.5 SAE J2244 • • • • • •

20


